Time : 3 Hours]

YA

(b)

(©)
(a)
(b)

(©)

(b)

(@)

(b)

XA-126

(1)  d¥ ALeL ARAAAL GualaL 531 asall.
(2)  aissiaeelly sivest [addlell 2y 21aql.
(3)  wHell ey Ul 2is usAl oLl sald .

XA-126

T.Y.B.Com.
March-2013

Statistics : Paper — IV
(Statistical Techniques)

QuiAt vied g2 d-l [alay usiRl aelal.
s Al5d T 1,50,000 6isui 4L s2Ud 9 A ol a ole d l3d duiel 7 50,000
Al GuLs 5% 9. % 50,000 -l GuLs sdlAL uix A ele d lbdA 54 T 1,75,000 Hol

69, dl 21yl e UL
8.5% -l &2 Hbd Yga sedl A el wy ?
x4l

Seat No. :

[Max. Marks : 70

4

5
5

“Alg A" A “Asylg @A” i i yeldl AvumelAl Aeclui avilcis

2Bt 53U

4

s ABd US4 WIledl M2 T 7,50,000 s3L 2UU 9 4 d oSl U &R
H[8 T 26,500 il 8l 10 arl Al ysadl Hie AHA Al 9. %l AL+l e 10.50%

sld dl d sl gra-dl [BHd sl 5
10 ad eile T 25,00,000 -l %37luldA Adival Hie A s s [R50 $3 ei-iaal
eld ol 9.25% -l 83 32l 284 L suadl Ad ? 5
olgA[Y i il ALA6Y 2 (Ui Yoy BelewL glRL Aol 6
DA 2udell Hledl W2 wdisly as y = ae®™ A wendlld A duy RUR
x=-3 ¢ld Ryl Bud 2iel : 8
X -2 0 1 3
y 135 369 1000 2718 20084
MY
AgAcilsHl vl 20Ul dHy AL uReuHl AL 53U 6

(1) d Geam [Big 2 25d WUl WRadel ada .

2 -1<r<1

{2l suddl wledl we x; Al x, 2t xg wrdl [Fadeiels vud sty s
™% BUIR X, = 10 il X, =50 ¢l R x; -l Bd view :

x, | 10 | 15 [ 20 | 25 | 30
X, | 5 | 20 | 30 | 50 | 45
X, | 20 | 30 | 40 | 45 | 50

8

P.T.O.



(b)

(a)
(b)

(b)

(b)

(b)

(a)
()

XA-126

“CRD” il “RBD”ll dérilcis 0414 AL 6
12 0 Hilsdl Aysl [edwel s 8
Halln
wtw [ A B C D E
1 109 112 119 150 -
2 112 114 127 250 260
3 114 118 128 280 270
4 116 120 135 300 280

24l
‘ANOVA’ (43l g5+t duil. 6
{12 e A2l AU Al [aedmel 53U 8
B C A D
24 70 | 90 | 100
C D B A
75 | 150 | 28 | 100
D A C B
200 95 80 32
A B D C
85 36 250 90
(G wialad uRagid Arid s dHy d-dl de-oReaed »Rudl. 6
%gel-gel Aalds uglavil gzl [Qenedlatiz qadd didl sifsdl 12 wawel ©: 8

ugla -1 80 | 83 | 79 | 8 | 90 | 68 -

ugla -2 82 | 84 | 60 | 72 | 86 | 67 | 91

ugla -3 93 | 65 | 77 | 78 | 88 - -
H-ulaeitl Gualol 530 “dsiit Ugldail A4t Fd 2142515 97 ddl wRseudld
ulawl s2U.

S]]
(G wialdy ulainl Aeeiul -l uglaxil 2L gsia quil 6
(i)  ALgsH ulaws

(i)  slaxiala ulast

Hid-[agedl ‘U’ ulRaeidl Gualol 5304 12 »de Hilsdld suai udlael s %
“old AHSAL Udisl 9422 dslad 97 8
AYSA | 7 [ 11| 9 | 4| 8|6 [12]11] 9 |10 11|11
AysB | 8 (10| 9 [ 13|14 |12 |10 |11 |14 | 13| 9 | 8

“aeiadl ddn” [Agl gs-it avil. 7
“oiaTl” «fl @l il TQM ll ugla aelal. 7
DL
“ps Medld dorl” v “[g el dlg-urdl avenxell 52U, 7
(1000, 100, 0, 50, 1) [Mesl Ul Hi2 O.C. 45 &iRl. 7
2



Seat No. :

XA-126

T.Y.B.Com.
March-2013

Statistics : Paper — IV

Statistical Techniques - IV
Time : 3 Hours] [Max. Marks : 70

Instructions : (1) You can use simple calculator only.
(2) Statistical table is provided on request.

(3) Figures to the right hand side indicate marks.

1. (@) Whatisannuity ? Explain its various types. 4
(b) A man deposits ¥ 1,50,000 in a bank. After 2 years he withdraws ¥ 50,000 from the
bank. At the end of 5™ after withdrawing ¥ 50,000 he receives ¥ 1,75,000. Find the

interest rate. 5

(c) After how many years a principal amount becomes double at 8.5% rate of interest. 5
OR

(@) Explain the term simple interest and compound interest in comparative form. 4

(b) A person pays T 7,50,000 cash to purchase a house and agree to pay ¥ 26,500
monthly instalment for next 10 years. If the interest rate is 10.50%, then find the

present value of that house. 5
(c) A sinking fund is to create for need of ¥ 25,00,000 after 10 years. Find how much
money should be invested at the end of every year at 9.25% rate of interest. 5

(o]

2. (a) Define multiple and partial correlation and regression by giving suitable example.
(b)  Fitan exponential curve y = ae®™ for the following data. Estimate y when x = -3. 8

X -2 -1 0 1 2 3
y 135 369 1000 2718 7389 20084
OR
(@) Define correlation coefficient and prove that 6
(1) Itis independent of change of origin and scale.
2 -1<r<1
(b) From the following data obtain regression equation of x, and x, and x,. Also find
best estimated value of x, when x, = 10 and x5 = 50. 8

x, | 1015 [ 2 [ 25 | 30
x, | 5 | 20 [ 30 | 50 | 45
X, | 20 | 30 | 40 | 45 | 50

XA-126 3 P.T.O.



3. (a) Give your comparative study on “CRD” and “RBD”.
(b) Analyse the following data completely :

Machines

Process | A B C D E
1 109 112 119 150 -

2 112 114 127 250 260

3 114 118 128 280 270

4 116 120 135 300 280
OR

(@) Write a short note on ‘ANOVA'’.

(b) Analyse the following LSD.

B C A D
24 70 90 100
C D B A

75 150 | 28 | 100
D A C B
200 95 80 32
A B D C
85 36 | 250 | 90

4. (a) Define non-parametric tests. Give its advantages and disadvantages.
(b) Following data represents the score obtained by the students by applying three
different methods of teaching :
Method-1 | 80 83 79 85 90 68 -
Method-2 | 82 84 60 72 86 67 91
Method-3 | 93 65 77 78 88 - -
Use H-test to test the hypothesis that all the three methods are equally effective.
OR
4. (@) With reference to non-parametric tests, write a short note on the following :
() Run test
(i)  Kolmogrov test
(b) For the following data use Mann-Whitney U-test to whether there was a difference
in the scores of the two groups :
GroupA| 7 |11 | 9 | 4 | 8 | 6 |12 11| 9 |10 | 11| 11
GroupB| 8 |10 | 9 |13 |14 |12 |10 |11 |14 |13 | 9 | 8

5. (@ Write a short note on “Quality Circle”.
(b) Define quality and explain the process of TQM.
OR
(@) Give comparison between single sampling plan and double sampling plan.
(b) Draw O.C. curve for sampling plan (1000, 100, 0, 50, 1).
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